CNS 3320 – Numerical Software
Homework – Chapters 7-8

“LU Factorization”

Date Due: See Syllabus
Given the matrix 
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, find matrices P, L, and U which constitute the LU-factorization of A, such that LU = PA, where of course L is lower-triangular, U is upper triangular, and P is a permutation matrix (a row reordering of the identity matrix). Use these resultant matrices to solve the system 
[image: image2.wmf]b

Ax

=

 for the following two right-hand sides:


[image: image3.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

2

5

1

b


and
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